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ENGLISH VERSION

Instructions : (1) Numbers shown right side are marks for the

questions.
(2) Answer all the questions.

(3) Calculations will be considered as a part of answer.

1 A machine purchased six years ago for I 1,50,000 has 20
been depreciated to a book value of I 90,000. It originally had
a projected life of fifteen years and zero salvage value. A new
machine will cost ¥ 2,50,000 and result in reducing operating
cost of ¥ 30,000, for the next nine years. The older machine
could be sold for ¥ 50,000. The machine also will be depreciated
on a straight-line method on nine-years life with salvage value of
< 25,000. Tax rate of the company is 50% and cost of capital is
10%.

Given - Present Value of T 1 at 10% on 9th year = 0.424;
Present Value of an annuity of I 1 at 10% for 8 years = 5.335.

Determine whether the old machine should be replaced.

OR
1 From the following information, calculate Internal Rate of 20
Return (IRR):
Details Amt. )
Initial OULEIOW ceevveeeeiiiiiiieieee e 90,000
Net Cash inflow per annum ..........cccccvveeeennennee 28,000
Estimated life........occeeeviiiniiiniieeee 5 years
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Given detail :

Discounting factor

15%

16%

18%

17%

Present Value of annuity

of ¥ 1 at for 5 years |3.3522

3.2743

3.199313.1272

2 The Devansh Ltd. is considering the purchase of a new 20

investment. Two alternative investments are available (A and B)

cach costing ¥ 1,00,000. Cash inflows are expected as under :

Cash Inflows
Year Option A ) Option B ()
1 40,000 50,000
2 35,000 40,000
3 25,000 30,000
4 20,000 30,000

The company has target return on capital of 10%. Risk premium

rates are 2% and 8% respectively for above investment options.

Which investment should be preferred?

Given details :

Year/Discounting factor Rate 12% 18%
1 0.893 0.847
2 0.797 0.718
3 0.712 0.609
4 0.635 0.516
OR
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2 The Vedansh Ltd. is considering two projects X and Y. Each 20

involves an investment of ¥ 40,000. The expected cash inflows

and the certainly coefficients are as under:

Project X Project Y
Year Cash Inflow | Certainly Cash Inflow | Certainly
&4 coefficient 4] coefficient
1 25,000 0.8 20,000 0.9
2 20,000 0.7 30,000 0.8
3 20,000 0.9 20,000 0.7

Risk free cut off rate is

10%.

Suggest which of the above two projects should be preferred?

Given details : Discounting factors @ 10% for the given years
is 0.909; 0.826 and 0.751.

3 Mrs. Heena is considering an investment proposal of ¥ 20,000. 15

The expected returns during the life of the investment are as

follow :

For 15t year :

Event Cash Inflow R) Probability
(@) 8,000 0.3
(i1) 12,000 0.5
(iii) 10,000 0.2
For 2" year :
Cash inflow ¥ 8,000 % 12,000 % 10,000
in 15t year
Event Cash | Probability Cash |Probability Cash |Probability
inflow inflow inflow
) Q) A
(1) 15,000 0.2 20,000 0.1 25,000 0.2
(i1) 20,000 0.6 30,000 0.8 40,000 0.5
(iii) 25,000 0.2 40,000 0.1 60,000 0.3
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Using 10% as the cost of capital, advise about the acceptability

of the proposal with the help of decision tree analysis.

Given details : Discounting factors @ 10% for the given years is

0.909 and 0.826.
OR
3  Find out the earliest possible time, critical path and the 15

minimum time required to complete the project with the help of
network diagram, from the following information as regards the

jobs involved in the project with their time duration:

Job | Activity | Time Duration - Days
A 1-2 8
B 2-4 6
C 2-3 7
D 3-4 6
E 4-5 7
4  Write short notes : 15

(1) Measure indicators of social cost benefit
(2) Scope of Social Responsibility Accounting
(3) The strategic triangle.
OR
4  Write short notes : 15
(1) Procedure of Social Cost Benefit Analysis
(2) Limitations of Social Responsibility Accounting

(3) Factors affecting Strategic Decision Making.
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